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i EXAMINATION BOARD
Pb@‘é%TJ”Ot"’” Middle School Teacher
Eligibility Test - 2018
1st Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) The full formof SENis___ . / SEN®TQUiwU___ RI

1. Special emotional negotiation / Hﬁ'ﬂﬁ SHRES AMRIERH

2. Social education needs / TR TSDHRM -Igd

3. Special educational needs / TR QW:WI Bt

4. Special and exceptional needs / WA 3R THREAA :ﬂ@'ﬂ

Correct Answer :-

« Special educational needs / WRIA TIHRAA 1Y

2) The need for child-centered education has increased mainly because: / qTd-hisd fRrem 31
SISl g&Ia: g $RUr A 9¢ Tt 8:

1. Parents have no time for their children. / ATAT-fUdT & UMY U= S o ﬁm qJHY 7‘1@[ %I
2. Parents are less qualified. / Arar-UdT &7 arg % I
3. Teachers have better qualification. / Rrerp! Bt aﬁ?ﬁ T %I

4. Teachers are more equipped to deal with overall development. / fRrere WW & fa

31 Jafsid g |
Correct Answer :-

 Teachers are more equipped to deal with overall development. / fRrefeh WW & ﬁ*l'q
3% gfeTa g

3) People who are categorized on the basis of economic condition are known as belonging to

a particular /ﬁq?ﬁﬁﬁan%@rﬁr%?wwwmﬁw%mm%a%
T® fagiy A Hefd U | =1 A1 g

1. Ethnic group / (WIEEY a4



2. Religion / )
3. Class / an
4. Caste / STTTdl

Correct Answer :-

e Class/ an

4) Perception of a particular method of teaching is different among learners because: /

g1 31 e faRIw usfa & yrRon Rienfiat & S firs § wife -
1. they do not want to learn. /éﬁwﬁmﬁ%l
2. they don’t like the topic. /G%ﬁ'ﬁl'qﬁm:lﬁél

3. perception is dependent on the environment learners are accustomed to. / YIRUII Rrefdal o

TafaRr R MR g, o smet 81
4. some of them do not like the teacher. / 3TH I DS QT&‘@ Cal SL3[ HB?W %I

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / YR U] Rrefal o

gaferor R ek 8, o sl g1

5) What is the primary change that occurs during puberty? / UIcE RS ??R'F'I' @ﬁ' CLGU
Wi ufead= | 82

1. Psychological maturity/H"I\IaQ‘III P URYUehdl
2. Social maturity / graTfores ufRaendr

3. Cognitive maturity / G D gy

4. Sexual maturity / 4 gRyesd

Correct Answer :-

. Sexual maturity / T GRUA1

6) At what age does the newborn recognize the mother’s voice? / f® 39 # Tawira Ry At
D1 AT B UgATAT 82

1. At birth / SH I
2. At three months / Il Il_sﬁef U3
3. At six months / &: ﬂﬁef R



4. At nine months / Al ﬂ%ﬁ R

Correct Answer :-

. Atbirth /SFH Y

7) Who was a development theorist of the mid-twentieth century who is best known for his
specific and detailed theory of children’s moral development? / CIRCIRIGIEA FUIH Udh
fawTa Rigiaer @19 o1 ot =91 & Afde faer & - faflkiy ok foga Risia &
forg i <ra 82

1. Lawrence Kohlberg / mi“éa q>\|g;c1q4|r

2. Vygotsky / CIEUIREDl
3. Piaget / oS

4, Erikson / gm?

Correct Answer :-

« Lawrence Kohlberg / Q'1\I’§H <31'>\I'('>'('1®|‘Ir

8) Who proposed the “Law of Effect”? / o= wyra &1 e ufaufes fear?
1. Sternberg / T

2. Fromm / /18

3. Thorndike / YT SIS

4. Bandura / E\IJ'UE'RT

Correct Answer :-

« Thorndike / YTHETS®H

9) Who developed the first intelligence test? / Ug Il m e (%R') fpaq fowla
fomar

1. Binet and Vernon / f89e S'ﬁT EFTT'T
2. Binet and Simon / ICEM G?IT R=

3. Goddard and Terman/‘I\ISIsr GﬁT CJ-Tﬂ

4. Goddard and Wechsler / TIETS 3R e

Correct Answer :-

« Binet and Simon / ICEM GﬁT R=



10) Preprimary education in India carried out through Anganwadi Centres falls under the

./ YR H Sare! $ai & Aread A < 9= arelt gd-mafire Rren
& Sl et g1

1. Ministry of Social Justice and Empowerment / AT =T 3R HTYBTRAT HATe

2. Ministry of Health and Family Welfare / ¥dIRY 3R URaR FHeaTur HATed

3. Ministry of Women and Child Development / Afg @l 3R &Tef faenT HaATerd

4. Ministry of Human Resource Development / HIFd T AT BT

Correct Answer :-

« Ministry of Women and Child Development / afga 3R 919 fawrg TATey
11) Critical thinking is an aspect of: / Mg = ﬁTF'l' DITP qﬂﬁ%

1. Bias / U&UId

2. Reasoning / LEg

3. Belief / faym

4. Emotion / HIdAT

Correct Answer :-

+ Reasoning / GEZ

12) The judgement of the quality of teaching depends on: / Rreror &t T DT ol

1. Developing a relationship / T ! fapRid @ IR

2. Attainment of information / STFHR] 1 UIGT TR

3. Discipline / 3R U

4, Overall development of student / I & T [dh |

Correct Answer :-

« Overall development of student / SHE & JHY [dh™ IR

13) The abbreviated term ADHD denotes: / Sf&&l Xeg ADHD (Q@'Qi@ﬂ) ﬁﬂ:lff CARANIG])

1. Attention Deficit Hypersensitivity Disorder / &1+ SHId SffadaeRitear fder



2. Attention Deficit Hyperactivity Disorder / &I 3{HId NIFRRINEEIN

3. Active Deficit Hyperactivity Disorder / iy 31HTa AfhadT [ddR

4. Aggression Deficit Hyperactivity Disorder/ SHIshTHdh dl SHHId N IERGINEEDR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder / ¥ 3HId R IERIRIACCAN

14) Which one of the following is not an internal factor of attention? /Frafafea d 9 =
AT (STYT) BT TP 3MARP PRSP 78] 87

1. Interest / 1

2. Intensity / iterdl

3. Mind set / Jd YRUT (A3E Jc)
4. Motives / URUTI

Correct Answer :-

« Intensity / dtgar

15) Which of the following factors did Kohlberg focus on in his theory of morality? /

Pigaat U+ Afaemdr & Rigia o Fufafea srRe! § 9 fra wR @ Sfga feare
1. Family influences / URaR UYd
2. Cognitive development / ESRIRIS:CACEAR]

3. Culture / W

4. Gender differences / fof ﬂ—c{

Correct Answer :-

« Cognitive development / STHTHD [dHTI

16) Which of the following is not an objective of Continuous and Comprehensive

Evaluation? / FrUfifEa & 9 «um Idd vd s geuid- &1 3539 T8l 82
1. Plan teaching-learning situations. / FRI&OT- T fRUfTTT &1 Ao dOR H3AT |

2. Communicate the child’s progress to different stakeholders. / T P U DI A= %HW
DI AT |

3. Map changes in the child’s learning and development. / I & T 3R fawr # ulkad-t
T HHe ST |



4, Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfdal & w1 9
1 UGT AT, 1P d IgeR TR B o |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / fqenfdat o 7= o
Y T BT, AP d IgdR UG B b |

17) Which of the following is not a risk factor for drug use that is directly attributed to
parents? /

Frafafeaa o @ o9 a1 571 Suah & fore sifaw ere 781 8 forae e arar-fiar uywer
Y ¥ ITRGRI S5 W2

1. Childhood negligence / dTedd¥T SIERCI]

2. Abuse / GHAER
3. Peer rejection / THH| RGBT

4. Genetic inheritance / &naam farad

Correct Answer :-

 Peer rejection / HGd)HT&%OTIdNUI

18) A child realizes that a four-legged animal that neighs cannot fit into her existing schema
of ‘dog’. What process will she undertake to fit this new information into her schemas? / Y

= @1 914 giaT1 @ T IR W aren 9HaR, 5l f RARAe 2, 'ox & Hieer smer o
fbe 7Y B THd1 81 ST 7S SHPRI B 39 ATHR H fbe B & forw ag o= I ufsear
3[YTTI?

1. Disequilibration / 3EJA

2. Accommodation / FHTISI

3. Assimilation / HTHIId
4. Homeostasis / IARITT

Correct Answer :-

o Accommodation / JHRST

19) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the
Kannada exam he wrote yesterday. What is this phenomenon known as? / ¥ I BT 3MTeT

F1 W & fore are fra 1§ sreRl & TRur #3139 gR1 & d fod T 7S
TII&IT & HRUI HS eRTdT & | $H U1 B fhd ATH I ST SI1dT1 82

1. Retroactive interference / q@g@ JARY



2. Retrograde interference / PIGUIGIRENE
3. Anterograde interference / ST ARy
4. Proactive interference / &@qﬂ"@ﬂ JARY

Correct Answer :-

+ Proactive interference / Hﬁqﬂ@ JARIY

20) According to Vygotsky, child’s language and thought develop . | TP
F IR, T P UTwT 3R faER i wva 7

1. independently of each other, then merge / U g\{-l\ﬁ WA gIpx dle H 30y o gieferd gt
EIGK

2. independently of each other / Uch §¥|§ WA

3. universally across the culture / FHT “Elﬂv—ﬁllﬁ R
4. together as child grows / 9= & fa&TT & 1Y

Correct Answer :-

« independently of each other, then merge / U gi-l-é T W0 glopR a1e § I T |iwferd gl
ITd &

21) Parents who have a lot of rules but support their children to follow the rules, are
adhering to ./ S Hrar-foar sga 9 A a91d § dfeq s s= @) fRae &1t e
¥ fore Tgradar v & BT TRV Hd ¢

1. Uninvolved Parenting / 37e& Ura-gIyor

2. Permissive Parenting / &E@w OTel=-areT

3. Authoritative Parenting / ATYHTNS gTer=-aIyur (31 Yivefea am

4. Authoritarian Parenting / SHfYHRATE! UTeH-aIwoT (3 YRR 3 ﬁﬁ%ﬂ)

Correct Answer :-

. Authoritative Parenting / 3TTHTN® TIA--TIN0T (3diRcled oRfem)

22) is the desire to act and move towards a goal. / &1 B
3R TP 9&a P} 3R T¢1 P I=T 2

1. Perseverance / €@ dl

2. Valour / dTg Y
3. Motivation / TR



4. Grit / 99

Correct Answer :-

« Motivation / TR

23) Which of the following theorists emphasizes the importance of categorization in the

Iear%ning process? / fRaferfad Rigiaer # @ ®19 ifnm &t uftkar # aiffeor & Hgd W &R
3d 82

1. Kohler / W

2. Bandura / SgXT

3. Bruner /R
4. Pavlov / PCRIE]

Correct Answer :-

e Bruner TGFTT

24) Problem-based learning in science encourages learners’ scientific habits of mind.
Which of these options best describes some of the guidelines for problem-based

learning?/ fagm A Jwar-smenfya e, Rrenfday &Y a7 Y aw~e sneal & Menfed wwad
21 379 | o1 91 faswen war-smenfyd Rigia W & oo fRznfadn 1 3fa auf sar 22

1. Reading, writing, listening/ UeI, Rﬂ{g"ll, I

2. Thinking up ideas, using multimedia, making variables/ Aec ISl T SUTRT HReb, AR
SRR faiRT Y FHSH

3. Asking questions, constructing a hypothesis, repeated trials/ 9% G, Tdh URG eI BT AT HRT,
TR-SR GRI&I0T AT

4. Discussions, a fixed number of trials, cooperative learning/ a%n‘, fAfga den o tR°[&‘WT, TehR] TRremmr

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ T% I&1, T UR&H eI B FH0T T,
IR-SR YRI&T0T DAl

25) The apparatus used for measuring the span of attention is . / 3@y fagfa
(VA 3ATE 3SR B AT & T wgaa fvar S arar Iuaon 2l

1. Tachistoscope / &
2. Microscope / Wﬂﬁq
3. Telescope / é?ﬂﬂﬁ'q

4. Epidiascope / Qﬁ'%'qm\ﬁ'q




Correct Answer :-

« Tachistoscope / &g

26) Id, ego, superego is put forth by: / U89, 37, WRTE (JUIsT) w0 # | frasd gr1 wufta
fod w2

1. Maslow / AR
2. Pavlov/ ﬁa?ﬂ”a

3. Jung/@T
4. Freud / /h1IS

Correct Answer :-

e Freud /WIS

27) The Expectancy Theory of motivation states that: / 90N & frgid A ®gar g
f:

1. People are motivated to do things due to external rewards. / TREPR I Hfad BT B & forg IR
gl g
2. There is a hierarchy of needs in each individual. / T fad H SERdl &1 T IGTIHH gidl ¢ |

3. There is a desire in a person to become what he is capable of becoming. / f¥l aafad & 98 &1 &1
31 gidl & S 98 & H Wer g

4. Motivation depends on the desirability of the outcome. / 3ERUT GRUMH &1 33T R AR Har g1

Correct Answer :-

« Motivation depends on the desirability of the outcome. / 3{fYERUT TRUMT Pt 35T WR AR w71

28) CANCELLED

Who among these psychologists have developed a theory of personality based on 2 dimensions:
introvertion and extrovertion? /g TR & | fraa 2 smarH Gﬁﬂ@ 3R E‘I%'ﬁ@ F YR W
HfRica 1 U Risia el far 3:2

1. Sigmund Freud/ fHE Whros

2. Carl Jung/ Eh—lﬁ?'[

3. Erich From/ Q|§$ BH

4, Hans Eysenck/ %ﬂ W
Correct Answer :-

« Hans Eysenck/ %ﬂ w



29) Teaching in an inclusive classroom is a challenge for teachers and demands

certain . | THTa=f wem # ger, Rierel & e v gk 7 ok 39w Aifda
=0 B! AP 2|

1. Habits / Tafd

2. Talent / 9fauT
3. Expertise / Q&I

4. Practice / 3{¥OH

Correct Answer :-

 Expertise / Q&dl

30) is found to be effective at achieving conceptual change. /

o) 3o uRad= ure 9 # uHTd Ui T 2|
1. Reading textual materials/ UlS 3T TR SR YuTTe!

2. Labs / FARTRITCT

3. Discovery learning / %ﬂm 3Ty

4. Detecting an anomaly / EEUIREIRGIRSHISI

Correct Answer :-

 Detecting an anomaly / ICRUIREIRGIRSHIG]

Topic:- General Sanskrit(L1GS)

1)

Z¢ VJENRIaH= SFHa(d -

. ZIRTRIAHH |



Correct Answer :-

‘TS 5T T 7 ?
e |

1.

, YNTH |
ciicl

3.

, 9|

Correct Answer :-

| JEae R A |
LN
ecisieeil

Correct Answer :-



5)

© - T
"THTST 2ot ] HIHRITAT &Y [ ?
N
1. |
T
, SHTE
LN
, GHTS |

TH{S: |

4.

Correct Answer :-

Lt = =dgdd |



_ Rrea: SteEE e
 Rrs: ST —eedd |
, RT3 ST =aedd |

Correct Answer :-

7)

‘IR 50 e Qe To9d ?

© Ay
UG |
1.
.
*
2. l lliil' |



1 T hTSH |

, HdRISH |

T

TdTH_ |

3.

4 AT RIS |

Correct Answer :-

L

Correct Answer :-



12)




wm?‘ i A (MR, f‘\"\-

| e |
2. |
, T |

-,
. ThHT hicdH |
Correct Answer :-
=
. WhHT hlH |

14)

‘AN A Qe &t ?

15)

g e - STWEERIE

. EUShITH |



, A |
, VTR |
, FETH |

Correct Answer :-

| SRR |

4l1:|EI_'=E|3‘3IIL|

Correct Answer :-

 gideraR= |



) Tegad |

Correct Answer :-

19)

i3t e TT=3(d ‘S99 ‘AiveU T [Riih: &l ?
1. 3 |
, JHT |

3m|

4.:|$rr'ﬁr|

Correct Answer :-






UMY TS 3T 3Y: -

N SHUT |

Correct Answer :-

.'EI'F[UTF‘II

23)

BRI ERIECAE 2
1. fo |

s

SId |

2.
[
3. : |

o RN )
46‘:’@?”

Correct Answer :-



25)

delics:” A [ATEar 6?2

. ¥dY e |

=, [
: |
-

2.
T i |
, A i |

Correct Answer :-

26)

FREUSTYET i T T+ & 2
| FEEH |
SUITEETH |
2.
EERcEiREY
3.



4.W|

Correct Answer :-

ECCd

| T |
2. ' |
g |

e
<dT |
4,

Correct Answer :-

Correct Answer :-



30) CANCELLED

HETHIAT STHATEEYY 38 [eg= -




Topic:- General Hindi(L2GH)

1) MR 1 fovg & afet
Fadt g STl 3,

@ sad IR A 1
IUAl A B Hadl At
¢ W TP a1 Al
"3 R afe g faum,
3T YAgR & U BT

# oft 1 ) 3fte AT 1
- 8 W51 e,
TP @STAC W R |
ifia, erfid, B R B2
3T P I T ST W
it @id W o &t |
Ug ar A @id o

H S S & I |
T YD o fpor axiet
ot 3 uof A BAa |
forg, It & Ma SHEHR
TE ST |4E # FPT |
I 361 P PR T,
PATAAYPI BT R |
4, erfla, $H Yz 82
ST Ui H1 UgHR -9 U T Uy BT IWR JaTsd:
w=A- ol BT wuTET 3-
1. 99

2.4dl

3. foovor
4, rguf

Correct Answer :-



2) e ta fave & afeh
ATTa Fgedt ST g,

fe goreT B AR Y

Ul & $S Hedl At

¢ W U J[ld A,
“od R afe g fayra,
3T AR & U BT

# +ft w1 ) 3fte AT 1
M- g8 e I,
TeA P TSTae W ¢ |
wfiq, erftd, 9 o 272
3T P I T ST W
it @i o) BT & |

U par A @id o

P 93 33 7 A |

T YD o fhor awieht
Jell 37 yof | BB |
forg, It & Ma SHEHR
@ WTd |8 § gAY |

I T6T P PI¥R T,
PATAAYPI BT R |
wfiq, erftd, B9 o 272
ST U B! UgH 1 Y& 7T UY HT 30X qa1sd:
W= i fra e a5 @ @2
1. BT Db

2. MM

3. 7

4. DR

Correct Answer :-

o M-I



e ga@T HR A4 B
Ul A $S Hodl ST
¢ W TP AT Wil
“ad wR gfe g9 fayma,
3T a3k & Ju-1 BT

& oft w71 Y e AT 17
- T T I,
A P ST AT W E |
1, enfia, B Yar 272
3T P I T ST W
it @i TR BT &t |

U ar A @id o

P! 95 373 7 Al |
AT Y& o fhRor aedt
Fell 37 yof | BB |
fg, g1 & 1fia SugHR
@ WTd 99 | 9w |
[T YET b T TR I H,
PATHA B HTUWR R |
1fiq, enfid, S Ga 22
ITYed U= B) Ugh? 19 UD T Uy P IR Iad133:
- '[P BT TId W ST ST 5 HId ST Ads 82
1. 3ffd

2. SEDHR

3. TR
4, FRaRan

Correct Answer :-



e W TP 19 |,
"3 W afe g fawm,
30 YR & Ul BT

# oft 51 1 i geTa 1~
- ¥ 38 i,
A P WSTAC R T |
ifia, enftd, H19 v 272
3T P I T 1A W
it @i TR B &t |
UE e A @id o

P! 35 37 7 A< |
Tl YD oI fH o7 aieht
Fol 37 yof | BAH |
fog, g1 & Ma IagHR
TE STd H4E # qT |
IS 78T b BT TR 7 H,
PATAA YA HTUWR R |
ifia, enfid, $1H v 32
ST UL B UgH 1 U T UY HT 36 Jarsd:
- Ugd IS & forg e § @ si=-an 2ide sfia 82
1. Sgdl afet

2. Rt w1 HA

3. Yb-Y[P! Yl

4. B YR &7

Correct Answer :-

. DAYRB?



3T YagR & Ul BT

# oft 51 1 3fte g 1
M- 8 et s,
TCA P WSTaC W ¢ |
ifia, enftd, $1H v 32
3T P I T ST W
it @i TR B &t |
UG ar i @id o

A s AR TR |
AT YD o fhor axieht
Ft 3FT ol § BABY |
forg, Yot & Ma IAgHR
g STd H4E # qPT |
IS 76T P T &R I F,
PATAAYPI BT R |
ifia, enfid, $1H v 22
ST UL $) UgHR A4 U9 Y Uy BT IR garsd:
URH- USRI & ‘UTed Yo WS d¢ R " Ufe & 3¢ qreq ‘uree” &1 1 3 giar 82
1. HeIgd

2. 7dt

3. Ueft

4, erar Ui

Correct Answer :-

. BT Uy



- 8 et e,

TP @SIAC W R |

ifia, erfi, B R B2

3T Y I T ST W

it @id W o At |

TE par g wid §

YH! 95 373 7 At |

AT YD o fhor axieht

ot 3T guf § BBY |

forg, Yot & Ma IASHR

TE ST H4E # qPT |

ST 78T P BT TR I H,
PATAAYPI BT R |

ifia, erfi, BH R B2

ST Ui H1 UgHR -9 U Y Uy BT IR JaTsd:
WRH- U= A T[T faemar & @ /i 361 82
1. Y

2.3

3. Bic

4, %X

Correct Answer :-



ifia, erfid, B R B2

3T P I T ST W

BIRCIGR DIl

UE ar A @id o

H! S S § I |

T YD o fhor axiet

Ft 3T gof & BHY |

firg, gt & e SHEHR

TE ST |4E # FPT |

I 361 Y& PR T,

PAI AP BT E |

1, enfid, B Y 272

ST Ui H1 UgHR -9 U T Uy BT IR JaTsd:
TH- TR § T Vg He’ o Weg 31 32 FU B2
1.7

2. Bl

3. 9%

4, =5

Correct Answer :-



it @id W o gt |

UG war i @i #

P 93 33 7 A |

T YD o fpor awiet

Qell 307 yof | BB |

forg, It & Ma SHEHR

@ STd |8 § g |

IS 781 P BT TR I H,

PAT AT YPI FIURE |

wfia, erfid, B YR B2

Iued U= B) Ugeh? 19 UD T Uy HT IR 9133
URH- U H 31T e afe-it | T ared 32
IS RGE I

2. 7dt

3. STail

4. TSP

Correct Answer :-



P! 96 IS 7 A |

AT Y& o fhRor aedt

Ft 3FT gof § BB |

fg, g1 & 1fia SugHR

I8 ITd 9% | @ |

ST YET b BT TR I H,

PATHA B HTWR R |

M4, 3rfla, $H Yz 82

IuYed U= B) Ugh? 19 UD T UY P IR Id133:
U=H- iR # 3MY =reg sy &1 7ur ord lar 82
1. 741

2. RAT

3. WgH
4. Udd

Correct Answer :-

10) M= M faveg & afeit
Fat Tl Al B,

e g1 HR A B
Ul & FO Hoa STl
¢ W TP A9 Wl
“ad W gfe g9 fawma,
3U a3k & Ju1 BT

# oft 51 1 i geTa 1~
- g 61 I,
A P ST AT W T |
fiq, enfid, 19 o 22
3T P I T ST W
it @i TR B et |
UG e A @id o

P! 96 IS 7 A |
AT Y& o fhRor aet



Fel 307 yof | BB |
fog, Y1 & ia IagHR
@ WTd ¥g § g1 |
ST 78T Y BT TR I H,
TAT AT YD BT E |
ifra, enftd, $19 v 32
ST UL B! UgH 1 YD 7T UY HT 36 Jarsd:
U - UG par - did
@ 95 343 B J<”
3 Ufaaal &1+ T 32
1. 4H dTHgd
2. Yob-Yb! Halq
3. Ui&rdl i S
4, atH{Or

Correct Answer :-

11) M= M faveg & afet
Fat Tl Al B,

e g1 HR A B
Ul A $S Hodl STt
e W TP @19 Hie,
oo wR gfe g9 fawma,
3U a3k & Ju1 BT

# oft 51 1 i geTa 1~
- g 61 I,
A P ST AT W T |
fiq, enfid, 19 o 22
3T P I T ST W
it @i TR B et |
UG e A @id o

P! 96 IS 7 A |
AT Y& o fhRor aet



Fel 307 yof | BB |

firg, It & Ha IAgHR

@ WTd ¥g § g1 |

ST &1 P BT TR I F,
PATHA B HTUWR R |

ifra, enftd, $19 v 32

ST UL B! UgH 1 YD 7T UY HT 36 Jarsd:
U - "Gl 79 YD1 BT W’ | T areqd 82
1. 98 30 4 fawg g

2. 98 Tiid T &

3. 3! fden guf g3

4. 98 359 & U TR g8

Correct Answer :-

. gg Tiid A @l

12) TR id favg & afett
At Tgdt St 3,

f&e geeT B A7 B
Ul & FO Hgal STl
e W TP 19 Hie,
"3 W afe g fawm,
30 YasR & AUl BT

# oft 51 >t i geTa 1~
- 9% 38 i,
AP WSTAC W T |
ifia, enftd, H1H v 372
3T P I T 1A W
it @i TR B &t |

U e A @id o

A Yz R T AR |
AT YD oI fH o7 aieht
Fel 37 yof | B |
forg, It & Ma IASHR



TE ST H4E # qPT |

IS 76T P T &R I F,

PATAA P BIUWR T |

ifia, enfid, $1H v 32

ST U BT UgH -1 YD 7T U HT 36X Targd:
U - YP H 1M TTar 82

1. U &1 A W

2. WAl R BATTSH TR

3. Sl fobvuT T TR UTeh

4. D b TH W

Correct Answer :-

. St fooll b1 Rl ureR
13) TR id favg & afeft
et FEdt e g,

foa st B o B
Al A $S Hed STt
e W TP 19 Hi,
“ad @R afe gt farar,
3T YagR & U BT
# oft 51 1 3fta AT 1
M- e 61 e,
TeA P WSTaC W ¢ |
ifra, enfid, $1H v 32
3T P I T ST W
<t @i TR B &t |

U ar A @id o
P! 35 373 7 At |
AT YD o fhor axieht
Ft 3FT Ul § BABY |
forg, Yot & Ma IASHR
g ST H4E § qPT |
IS 76T P T &R I F,



PATAAYPI BT R |

ifia, erfid, B R B2

ST Ui B UgHR -9 U T Uy BT IWR gaTsd:
U - Y1 F M SHSH f$T RO A I/ &1 32

1. TUdT & HROI

2. & & DRI

3. 98 & BRI

4. 318 & HRUI

Correct Answer :-

. T8 P BRI

14) M= M favg & afeit
aTad Tt W €,

fa saeT B A BT
IUEl o $O Pl Sl
¢ W TP Y19 Hi,
"3 R afe g faur,
3T YagR & Ul BT

# oft 1 1 3fte AT 1
M- 8 et s,
Tea P WSTde W ¢§ |
14, erfla, $H Yz 82
3T Y 39 T ST W
it @id W o 3t |

U par g wid §

P! 95 373 7 At |
AT YD o fhor axieht
Fot 3T ol § BABY |
forg, It & Ma IASHR
TE ST H4E # FPT |
IS 76T P T &R 3§,
PATAAYPI BT R |
wfia, erfid, B R B2



ST Ui B UgHR 19 U T Uy BT IWR JaTsd:
WRH- AT - d G a18a1 82

1. GIER & FUl & T

2. 98 & Md

3. YD1 & A

4, fbvull o T

Correct Answer :-

. IR b JUl &b Ifd
15) &R M faveg & afeft
Tad Ted! Wl €,

foa saeT B A BT

SUdl § O Hedl Wt

¢ W TP o Al

"3 W afe g9 faum,
3T YAgR & U BT

# oft w1 ) 3fte AT 1
M- 98 ve1 Fsid,
TP @STAC W R |
wfia, erfi, B R B2
3T P I T ST W

it @id W o At |

Ug ar i @id o

T IS S § I |

T YD o fpor axieht
Jell 3T gof & TR |
forg, ot & Ma IHSHR
TE ST |4E # FPT |

I 361 P PR T,
PATAAYPI BT R |
wfiq, erftd, B G 22
ST Ui H1 UgHR 19 U Y Uy BT IR JaTsd:
WRA- 74 98 §U 3Tl | Tl $S Hedl Al 32



1. 98 H e & forg
2. T gl X o fog
3. g Wl g & forg
4. Ma T & forg

Correct Answer :-

« T Boedl B o oY

16) I Ft gl JURH IRY B IR & ST T Yo o1 AuSt # 5y A1t 3 o JUrht 3 A= IR qre™
Pt NUS & g o1ar g, fbg RN & g4Y I 98 I AR Tl Ul $9 U1 B AP R Yoo H TR
Pt FeATH Bt B 1 IR SR TR TUT 3 AT ISP °ANT TR UY IoT 8 | 39 U1 A I Fa-il ety
g3 % 98 Te-Bed? A1l R 3 IHAH 3R USHH | TR Ft v Yfie 8| 39 $wf 39 ara & &
5 GRe™T A9 A TgaT 8, WaA-Uiar 3, SUd 98} W AR A8 srawdl, Safe SeR $ @H-$a & ad
7S gU &1 WY 1 aghar Uit ur sr1eR o off T@ar o1l GReRT o gunlt & wael Yt Taf ¥ qeed &
ga-1t g5 fr WY 1A ruH 3R geATH FT gea A1 B T 3371 IWA o ITY o fF 5 96 P B
TN, TSUTY el a9 aF I I 781 frawmm | I/ & qurer & ga+it ge-andt @) @ 1€, We-yig faRied
aﬁmﬁﬁwvﬂﬁwwwmﬁml 3fdd: 3P Al Bt Aefl IoT & 7T SR Y™ B U F
ST T &Y

e F IR B fagivar 78 @ P St & Srer for 9 & Sras[g a8 [Pt & ufamiy a9 & faymy 8
HdT afcp AT H fIyT S g SUfie a8 firgsen & |are. «of $I 9t 919 IR FUSt ST 3T T G
1 P SaTd H TEdT S 1Y I 31 8- “df gd W 9 o IR o163 17

IUY T T B USHR A9 YD T U BT SO a15d:
- SR YRERT o i g1 Bl A1?

1. W™ Pt Fiue! oid 78 At

2. YRETY 3T TgdT Tl

3. YRaN ARFGH AT

4, YRENT - Tell g8 SuS! i STl &t

Correct Answer :-

. RGN SHfGd Ygar ol

17) TR B velt JuTft RN Ft 9R & 5 A W F1 FuSt & 57 S1elt | 3R JUTH 1 ArA N e
Tt US| g o1ar g, fhg RN & 54U I 98 I AR Tl Ul $9 U B AP R Yood H TR
Pt FeATH gt B 1 SR SR IR TUT 3= AN ISP AT TR UY IoTd 8 | 39 U1 A I Fa-il Sreranty
g3 % 98 Be-Bed? A1 RN B IHAM R USHH & TR &1 v YT 38 3 Tt 39 ara #t i
o5 GRe™T B9 | 5T €, Wa-diar 3, 3UF Ag) W AR 98 srawdl, Safd SR $ @H-$HA & ad
TS §U &1 TRI Y aghar Gurht R SR For ot T@ar 311 JRe ok gurit & Jeul 3t aat ¥ gee o
gt g5 % WA 3UA MU 3R TNt BT ggar a1 B Wi SoT1 I e 9y A fF o9 9% q@ Bl
AT, TS 18} 99 a9 I T T8t | I/ & warst # ga-it ge=rd g af 7, We-ura faRred
ﬁﬁ“\%ﬁ‘ﬂ? IR PRI W TR I@A AN 3ied: TP UGl B Aeht IST & 74T 3R JRe™ o1 st o
SR S

e F IR F} fadiwar 78 & & vt & Sren iy oM & wravig 98 [Pt @ ufa=iy a7 & fayra =
HA1 dfews gAHT0 H fIYTE a1 8 sUie 98 figsn & |ard- <ot HIS | are IR st ST T & g
Al & wTaTe H Tgdl & H1Y TR a1 8- 7t &6 W W e IR S 1



IUYFT TR BT U -1 IO T YY BT IR Id133:
- YRS $I gedl frad yae gl 82
1. QU ) IROT A |

2. fAgan & iU M I I
3. B! TS H 3T T °
4. 39d A T/AH

Correct Answer :-

. fgen el i IR

18) Wi Tt el JURH RY B} 4R & ST A YW o1 NUSt & 5y A1t 3 o JUrht 3t A= AR qRes
Tt FNUS & g o1ar g, fbg RN & 34U I 98 I AR T8l Ul 39 U1 B AP R Yoo W TR
Pt FeATH Bt B 1 SIER SR TR qUT 3 AT ISP AT WR UY IoTd 81 39 UeAT A I Fa-il Sreranty
g3 % 98 Te-Bed? A1l R &) IHAF 3R USHH A TR v Yfiret 8| 39 St 39 ara &t &
5 GRe™T I A TgaT 8, WaA-diar 3, Sud 98} W AR A8 srawdl, S9fe SeR $ @H-$aE & ad
7S §U &1 TR Y agfear Gurft w SR TR oft v@ar 311 JRe ok gunht & deut 3t vt @@ geew A
ga-t g5 for WY 1A A 3R FeATHY FT gea A1 B! T 3371 IWA o IY o fF & 9F P HI
T, TSUTL 18] a9 9P I A 181 AT | I/ &0 GuTe | ga+it ge-nt g) af 8, We-uid farred
ﬁw%ﬁ*ﬂﬁwwwwﬁml 3fdd: IS STl Bt Aefl IoT & 7T R YR B U A
ST T &Y

e & I o1 fawar gg 8 fr vt & San Ry oM & dras(g a8 fodt & ufo=ny a1 A fayr a8
HAT afcp AT H fIyT S 3 SUfe a8 figsen & |are. «of $I5 9t a1E IR FUSt BT 3T T G
P & STaTe A TEdT & 91y IR a7 8- “al g9 Y | arg IR a9 |

IUY e T B UGh A9 YD T U BT SO gaT8d:
UH- RN [ a1d § fayrT ar A1

1. gferny gt o4 o

2. Wt pr e d

3. YIS H M A |

4. I Y ggar o o

Correct Answer :-

. Tfaeny T8 o= |

19) WY & Telt JUTH R #1 IR & 53 A e $1 S A f5u A1t 3 o gUrh B arA R Rem
Tt FNUS & g o1ar g, fhg RN & g4Y I 98 I AR Tl Ul $9 TS B AP R Yoo H TR
Pt FeATH Bt B 1 IR SR IR TUT 30 AT ISP AT TR UY IoTd 8 | 39 U1 A I Fa-il Sreranty
g3 % 98 Te-Bed? A1l R &) IHAM 3R USHH | TR 7 yfire 8| 39 $wf g9 ara &t &
5 GRe™T A9 A TgaT 8, WaA-diar 3, SUd dg) W AR A8 srawdl, Safe SeR S @H-$a & ad
TS §U &1 TRI @) aghar Gurht R SR FeR ot v@ar 311 JRe ok gunht & deut 3t vt @ gee o
3ot g5 % WY 3R MU 3R FEATt T ggar a1 B AT SoTI I i 9y A fF o9 9% qP Bl
TN, TSUTE 8l a9 aF I T 781 a1 I/ & qure & ga-it ge-anht @) @ 1€, We-ura faRied
aﬁﬁ‘f‘@_?m IRY YRR W ToR T@A 1| 3id: STS oudl Pt Aot I8T & 7T 3R e Bt et &
SR S



W & I ot fatwar gz § i vt & e fqu @i & rav[g 9z fedt 9 ufawniy o & fayry =8t
Fa1 gfew gAfufor # fayry wwar @ safere a8 fAgsn & Tard- <ol $13 I dRg IR SNUST B 3R &
Al & SaTe H Tgd1 & AT I ¢l 8- ot g6 Wi ) 9 IR A6 1

IUYe TRIRI B USH 19 IR 7T Uy HT IR Id133:
U=H- RGN & Iia ot o1 fa=rear 2

1. 98 YA 3R FEAHT I ST T

2. 98 forelt ot ot oot SOt & o g ol

3. 98 it @ faiy a o fasyr =7t & ol

4, 98 TR I 1 FHo=al T

Correct Answer :-

. g fdl T yfaeny o H fayr Tt wvar uT|

20) WY B Telt GURH R F1 IR & X A W F 7St A DU A1t § iR GURH F AR R e
B S F g7 o1an 8, fFg W & §a8T A 98 I AR 81 UTdT| $H Ul B ab R geed § IR
Pt FEATH gt 81 IR SR RY TUT 3= AT ISP °RT TR UY IoTd 8 | 59 U1 A I Fa-il Aeranty
g3 5 98 Be-ea: Ja1| RN B IHAM SR USHH & TR 31 1 YT 38 39 3wt 39 a1 a1 i
o5 GRer™T B9 | TgaT B, War-diar 3, Sud Ag) W AR 8 srawdl, Safd SR $ @H-sa &
7S 3T § 1 W ) aghear Junht wr SreR o off T@ar o1l GReRT ok gurht & wael it waf @ geeat &
g+t g3 foF MR (U= A 3R FEATHY FT Fear A1 Bl T I3TI ITA 6 Iy ot fF o9 a6 JW 31

TATT, TSUTEI T} 99 9P 39 A9 g1 A1 I/ T g # 3ot gt g ot 7€, Wiy favrest
aﬁw%ﬁ*ﬁﬁwwwwﬁml 3fdd: IS Sl Bt Yefl IST A 7T SR Y™ B FuS!
MM

e F I ®1 fagivar a8 @ & vt & Srar ey 9 & Sras[e a8 Bt & ufamiy a9 & fayrmy 8
a1 afews QAT H fayry 3 8 3afig a8 firgan & ware- <ot #13 W 9rd IR ST Y M A §
P & ST H TEdT & 91y IR a7 8- «al g9 W | 9 IR I9a 1>

IUYe TRIRT B UgHR 19 D T Uy HT IR Id133:
U GRS B R Jooo § ) a5 gt 22
1. QYR &1 die 9

2. GUTT & YR B Ahas! § 3= 9

3. USTH SRTAH &

4, IR B $%1 & HROI

Correct Answer :-

o YU & YR B AUSH H S

21) WY B Telt GURH R F1 IR & S A e F 7St A U A1t § 3R GURH F arRA R e
T S F g o1 8, fFg W & T84T A 98 I AR 81 UTdTl $H Ul B Ab ¥ geed H JRa™
Pt FeATH g1t B 1 S1ER SR TR qUT 3 AT ISP AN WR UY IoT &1 39 U1 A I Fa-1 SAeranty
§s 5 98 Be-ed: JaT| R B IHAM SR USHH & TR 31 g YT 38 39 3t 39 a1 ot i
5 GRerRT I A TgaT B, Wa-diar 3, Sud Ag) W AR A8 srawdl, Safd SR $ @H-saH &
TS gU 81 W ) agfiear Jurft wr sreR o ff T@ar o1l RN ok gurht & wael it waf ¥ geedt ®



g+t g% fob AT (U 3MUAT 3R FEATHI BT Taell o BI HIF S3T1 I/ 76 I1Y ol & S ab JX Bl

FTATIT, ISYTEI 8! a9 dP I A7 71 FHAT | I/ T A H S+ T g Y T, HiS-HId faRest
ﬁw%ﬁ*ﬁﬁmwwwﬁml 3fdd: 3T vudl Bt Aeft IoT & AT R Yo P UGt H
ST T &Y

e & T #1 fawar gz 8 fF Fiudt & war Ry oM & arae[g a8 fd 9 ufo=ny a & fayry 78
&1 dfe gAfAfor & fayra wear ¢ safig 98 firgen & gare- <o #13 & are IR St $Y M S
P & ST A TEdT & 91y IR a7 8- «al g Y | 9 IR I9a 1>

SU e TR B UG 19 YD T UY BT IR Ia13:

- <l g9 i I 9@ IR I | PIF-91 YT DT 872
1. STATIYTH

2. &1

3. 3T

4. 3

Correct Answer :-

. STHAYN

22) WY F yelt GURH R F1 IR F X A e F St A U Srelt § iR GUrhH F arA R Rew
Tt U & g o1ar g, fbg RN & 358U I 98 I AR T8 Ul 39 U1 B AP R Yoo H TN
Pt FeATH g1l B 1 SIER SR TR qUT 3 AT ISP ANT WR UY IoT & 1 39 U1 A I Fa- Areranty
§s [ 98 Be-eds a1 R B IHAM SR USHH | TR 31 1 YT 38 39 3t 39 a1 o1 i
5 GRer™T I A TgaT B, Ta-diar 3, Sud 9g) W AR A8 srawdl, Safd SeR $ @H-$a & ad
TS gU E 1 W ot agiear Junft R FreR TR ff T@ar 31l RN ok gurht & wawl it waf ¥ et ®
gt g5 5 WA U SUHTH 3R TGATH BT gGaT A= B AT 9711 I e a1y of & oa a6 JqW Bl

FTATIT, ISUTEI 81 a9 dP I A7 81 FIAT | I/ T A A S+ T 8 Y T, HiS-HId faRest
ﬁw%ﬁ*ﬂﬁmwwwﬁml 3fdd: IS Sual Bt Aefl IoT & 7T SR Y™ B SuS A
ST &

e & T o1 fauar gz 8 fF Fiudt & wiam Ry oM & arae[g a8 f5dt 9 ufo=ny a= & fayry 78
Fal afew gAfuTor 8 fayry ovar @ safie a8 fAigsn & Tard- <ol ®i3 I a1 IR SNUS! B 3R &
P & ST W TEdT & 91y IR a7 8- “al g Y T 9rg IR F9a 1>

IR T B UGHR 1 I T UY BT SR Ja1sd:

WH- AT IS GeTar T 1 3 ghar 32

1. UH 3STHT

2. gfa=nY o=

3. 3UTd g

4. STETEAT BT

Correct Answer :-

e YT T



IRY BT el GURT R Bt IR & S A Yo $t AUS! & By Il § o JUrh &) ara R GRem 3t
TS ¥ g oran 7, fbg TR & 538U @ 98 39 UR 1 uTdT| 39 9T $l ab I¥ e H YR B
FeATH! BYelt 81 SHTER 3R AR TUT 37 @RT 3P I W Uy IoTd &1 39 U1 A I 31 e g5
% a8 Be-Feax a1 R F IHAM R UsHH F TeR F v YfreT w81 39 swf 59 ara ot A f
RN I I TEdT 8, TIar-viar g, I9d 8¢ R R 7 Frawdl, Fafd TR $f @H-50H & ad U
BT T 1 WY &} agivar Uit wr wreR o oft waar oT1 JReM ok guUrh & daut @t Tt ¥ geed | ga-t
g3 I IR 3 A 3R STt BT Igar A &Y T 3371 IA W6 91y ot fF 5 9% G B Famem,
TSUTEIT E] a9 do I D TS} FAe | I/ T G A 51 ISATH B o 7, HIS-HTd faR1ed &) P8l 4
3 IRY YRR WX AR I | 3idd: 3P U4l Bt Jeft IoT A 74T 3R YRS B FuSt o 3T @ €t

e & IR Ft faRwar gg 3 6 Fust & oen faw o & aravg a8 fredt @ ufoiy o7 & Ry =%
HA1 dfees gAHT0 H fIYTH a1 8 sUfie 98 figsn & |ard- «Sif $1S | arE IR $uS! ST ST g
b & oarg W TEdT & 1Y S7R 3T 8- «dl g9 ot W 9@ IR S 1

IUYed TRIRT B UGH 19 IR T Uy HT IR 9d133:

- <WR} @1 agiar | a1 arerd 82

1. IR BT 98

2. IR} Y i

3, IR} @t ymaft

4. NI Bt IRl

Correct Answer :-
. Wit i

24) Y P velt GUET AR B AR F 33 F o™ F NSt § 57 ot § iR gurht & A R e
3 S A g o1an 8, fFg W & §wa8T A 98 I AR 81 UTdT| $H Ul 3 b R e § YR
Pt FeATH gt B 1 IR SR R TUT 3= AT ISP °RT TR UY IoTd 8 | 59 U1 A I Fa-il Sreranty
g3 I 98 Be-Beds A1 RN B IHAM R USHH & TR o1 v YT 38 39 @t 39 a1 #t i
o5 GRerRT B9 | 5T €, War-diar 3, 3UF Ag) W AR 98 srawdl, Safd SR $ @H-$HA & ad
7S 3T &1 W) ) agiear Juiht ur sreR o off 3@ar o1l @ReRT ok gurht & wael Yt Taf ¥ geedt &
g+t g3 foF MRV (U= A 3R FEATHY FT gear A1 B! T I3TI ITA 76 Iy ot i o b JW 31

FTATC, TSUTEI T} 99 9P 39 A9 g1 A1 I/ T JHe # gat gt g ot 7€, Hie-yia farrest
ﬁw%ﬁ*ﬁﬁwwwwﬁml 3fd: 3P UGl B Aeht IST A AT 3R TRe™ B! ! A
ST M

e F IR F} faiwar 78 & & vt & Sren g oM & wravig a8 [Pt @ ufa=iy v & fayrg &
HA1 dfews gAHT0 H fIYTE a1 8 sUie 98 figsn & |ard- <ot HIS | are IR St ST T am g
& oarg W TEdT b 1Y SR 3T 8- «df g9 ot i 9 IR S 1

ST TR Y USHR 1 I T UY 1 I<R Ja1sd:
- W DI fore spamn?

1. gHTft

2. SR

3. Wa™
4. ATYT

Correct Answer :-



25) WY B Telt GURH R F1 IR & S A e F 7St A DU o1t § 3R GURH F arA R Re
A NS & g oran B, fbg YW & §AY @ 98 I AR L UTdT1 59 U1 B A’ R Yoo § G
Pt FEATH! Eelt 81 TR 3R R TUT 37 @NT 3P TRT W UY IoTd 31 T U1 A S S+ STaan=
§s % 98 Be-eds a1 IR B IHAM SR USHH & TR &1 1a YT 38 39 3wt 39 a1 #t i
for QRe 99 ¥ T@aT 3, Wiar-didr 8, 39 Ag¥ W AR T8 srawd!, safe SR S WR-F9M & ara
7S gU &1 W) ) aghear Jurt wr sreR Ao off T@ar o1l GReRT ok gurht & wael it waf ¥ geedt &
gt g3 5 WA U SUHTH 3R TEATH T Gl A< B AT 3711 I 76 arY ol & o9 aF Jq Bl
T, TSUTY 8] a9 aF I I 181 | I/ o qure & ga-it ge-andt @) af 78, -y faRred
aﬁaﬁ‘f%@m IR GREM W ToR I@1 1| 3id: TP oydl &1 Aeht I3T & 74T 3R TSy &t ugt o
SARTTMEH

e & T @1 faivar g5 @ 5 vt & war i 91 & arav[g a8 fheht & ufasny a9 & fayr =8
FHRal gy QAT & fIYRT Hrar @ safie a8 fAgsn & 9ara- <ot $ig I a9 aR SNUST Bt ST @ S
A & SIaTa § TEAT S 1Y I 4T 8- “dt g6 W} Tt g IR TG 1

IUYe TRIR Y TSP 19 IR 7Y Uy BT IR 9133
- TR YR WR T} Aok IW T2
1. JReM I Ufa=ny o & fore

2. R YUY g3 & forg
3. JYB! TG A & for
4. 39 gUTIT 1 et o1 SHfe

Correct Answer :-

. RN J ufany a9 & forg

26) WY F Telt GURH R F1 IR & S A e F ISt A U Srelt § 3R GURH F arA R e
B S F g7 o1 8, fFg W & T 08T A 98 I AR 81 UTdTl $H Ul B b R gaed H JRG™
Pt FEATHI Eelt 81 TR 3R R TUT 37 @NT 3P TRT W UY IoTd 31 T U1 A S S+ ST~
§s % 98 Be-eds a1 IR B IHAM SR USHH & TR 31 1a YT 38 39 It 39 a1 #t i
for QR 99 ¥ TgaT 3, Wiar-didr 8, 39 Ag¥ W AR T8 srawd), safe SR $ WR-F9M & ara
TS gU 81 W ot agiean Junft ur reR o ff T@ar o1l GReN ok gurht & wawl it waf ¥ et #
ga-1 g% o TRT U A SR TR BT Jga @ St Hid doTl SHA W6 iy o fos oia 9% Y )
T, TSUTL 18] a9 aF I I 11 a1 I/ & gure & ga+it ge-andt 8 @ 18, -y faRred
ﬁw%ﬁ*ﬂﬁwmwwﬁml 3fdd: 3T vudl Bt Aeft IoT & AT R Yo P Ut A
SR TS

e & T @1 faivar g5 ? 5 vt & war i 91 & arav[g a8 fheht @ wfasny a9 & fayr =8
FHRal giep qAHT0 & fIYRT Hrar @ safiY a8 fAgsn & 9ara- <ot $ig IO a9 aR SNUST Bt ST @ S
P & ST W TEdT & 91y IR a7 8- «al g W T 9 IR I9a 1>

ITYe TRIIR Y USHR 19 IR 7T UY o7 IR 9133
WH- IR A S 91 B 716 a1y ot @i

1. GUTT &l ORA D1

2. MUHH 3R FEGATH! BT Tl o B

3. RGN B GRA Bt



4. GG D1 IGATH B Bt

Correct Answer :-

o 3MUAM 3R SSATH! BT ST o DI

27) WY B Tl GURH R F1 IR & S A e Fi 7St A U o1t § 3R GURH F AR R e
3 S F g o1 8, fFg W & TAT A 98 I AR 81 UTdT| $H Ul Bl b ¥ gaed § JRe™
Pt FEATH gt 81 IR SR IRY TUT 3= AT ISP °NT IR UY IoTd 8 | $9 1 A I Fa-il ATerany
§s % 98 Be-eds a1 RN B IHAM SR USHM & TR &1 1a YT 38 39 3t 39 a1 #1 i
for QR 99 ¥ TgaT 3, Wiar-didr 8, 39 Ag% W AR 78 srawd), safe SR $ WR-FUM & ara
u:_.}'g'q?;l R &t agiar GUrTt W weR TR ot Taar 11 JRe iR gurht & det @t 9uf ¥ gee o

gt g3 5 WA U SUWH 3R TGATH BT Gl A+ B AT 3711 I e a1y ol & o9 a% Jq Bl
AT, TSI 151 99 aP I AT TG Fa | I/ & warst & ga-it ggard g1 af 7, Wier-urd farTed
aﬁw%@ﬂ?ﬁﬁwwwwﬁml 3fdd: IS FYAT Bt Yefl IST A 7T 3R Y™ B FuS!
SR T E

e & T @1 faivar a5 @ 5 vt & war fiu oM & arav[g a8 fheht & ufasny a9 & fayr 8
Fal afew gAfuor # fayry ovar @ safere a8 fAigsn & Tard- <ol $13 I a1 IR SNUS! B 3R &
A & SaTe H Tgd1 & AT I &l 8- “dt g6 Wi ) 9 aR 946 1

IUYe TRIIR Y USHR 19 IR 7Y UY o7 IR Id133:

- YRS B SNUS! | Fua) F Aeft A ISTHR @ T4
1. Ut

2. OTER

3. WY

4, Yard

Correct Answer :-

28) WY @1 Uelt GURH IR F1 IR & e A e F NSt A U Frelt § i GUrh  arA R e
Tt U & g o1ar g, fbg RN & 358U I 98 I AR T8 Ul 39 U1 B AP R Yoo W TN
Pt g Bl B 1 S1ER SR TR qUT 3 AT ISP AT WR UY IoT 81 39 UeAT A I Fa- ety
§s [ 98 Be-ed: a1 R B IHAM SR USHH | TR &1 1a YT 38 39 3t 39 a1 »1 i
for QRe 99 A T@aT 3, Wiar-didr 8, 39 Ag% W AR 8 srawd!, safe SR $ WM-FUM & ara
7S g¢ ¢ | IRY Y agivar guht R SR o o e T REr 3R T & deel ot w9l @ geod &
ga-t g% for MY A A 3R FeATHY FT Sear a1 B T 3371 ITA e IY ot fF 5 b JP A1
TATEIT, TSUTE ) a9 a I A 1 Fra | I/ o Jure A Fa-it g4 8 ot 718, Wi-H1d farred
aﬁwﬁaﬂ’ﬂ?ﬂ?‘rmwwwﬁml 3fdd: 3P Sual Bt Aefl IoT & 7T SR YR B SuS) A
SR TS

W & Il o1 faiwar ug & f vt & Sar Ry oA & dras[g a8 fadt & ufo=ny a1 d fayrg a8
FaT dfcp qATATO & fIYRT Har @ gHfT a8 fAgen & Jard- <ot #ig T arg R SNUST B 31T &
dr & SIaTd # TgdT & 1Y ST &dl 8- “df gH it I arE IR qAA |1

ST T B Ugh -9 U 7T Uy BT ITR gaT33:
U - AR B Uell PR ) st & ) fsu st 82
1.aa=ntﬁ$s§€f |



2. qREM DI SNTST H N T I
3, ST
4, RIBIARD Y

Correct Answer :-

« RWPIARIRY

29) WY B Telt GURH R F1 IR F X A e Tt ISt A U Fredt 7 o GUrhH H arA R Rew
Tt US| g o1ar g, fhg YR & gEaU I 98 I UR 7Tl UTdT | $9 U B AP R Yood H TR
Pt FeATH gt B 1 IR SR R TUT 3= AT ISP °ANT TR UY IoTd 8 | $H U1 A I Fa-il SAreanty
g3 % 98 Be-Beds A1 R B IHAM 3R USHH & TR &1 v YT 38 3 Tt 39 ara &t i
5 GRe™T B9 A 5T €, War-diar 8, 3UF A8% W AR 98 srawdl, Safd SR $ @H-$HA & ad
TS §U &1 TRI Y aghar Gurht o S1eR For ot T@ar 311 JRe ok gurit & Jeul 3t aat ¥ gee o
3ot g5 % WY U MW 3R IRt BT ggar a7 B Wi SaTI I S 9y o & o9 9% G Bl
T, TSUTY 8] a9 a9 I T 781 frawm | I/ & qurer & ga-it ge-andt &) @ 18, WS-y faRied
ﬁﬁ“\%ﬁ‘ﬂ? WY PRI W TR I@A AN 3ied: TP UGl B Aeht IST & 74T 3R JRe™ o1 st o
SR S

e F IR F} fadiwar 78 & & vt & Srem iy oM & wravig a8 [Pt @ ufaiy a7 & fayra =
HA1 dfews gAHT0 # fIyTE a1 8 sUfie 98 figsn & |ard- <ot $1S | are IR $us! ST ST & g
> & w91 H TgdT & A1 SR &l 8- «dl g9 W} W 9 IR gt 1

SR TR B UG -4 I T Uy BT 3TR 9a153:

- TR H 31T GETar TS qref A1 &7 a1 3 giar 32
1. R B3

2. Scdl o

3. &HT AT

4. S T

Correct Answer :-

. Mg s

30) R B Uelt GURH TR Ft AR F T T P T NuSt & 57 ot @ 3 gUTht F 7R R e
3 S A g o1an 8, fFg W & §8T A 98 I AR 81 UTdT| $H HeHT B b R e § IR
Pt FEATH gt 81 IR SR IRY TUT 3= AT ISP °RT TR UY IoTd & | 59 U1 A I Fa-il Aeany
g3 5 98 Be-eds Ja1| R B IHAM R USHM & TR 31 1 YT 38 39 It 39 a1 #t i
% qRer A9 A 5T 8, Wial-Hidr 3, 3uP Ag¥ W AR T8 Fawdl, 9afd TR B H-FEE & ad
TS §U &1 TRI ) aghar Uit o SR For ot Taar 311 JRe ok gurtt & deul 3t a9t ¥ gee o
g+t g3 foF MRV (U= A 3R FEATHY FT FeaT A1 B! T I3TI ITA o Iy ot i o a6 JW 31
TATT, TSUTEI &) 99 9P 34 A9 g1 A1 I/ T g # gat gt g ot 7€, Wiy favrest
aﬁaw—ﬁ%ém? IR PRI W ToR I@A AN 3ied: TP UGl B Aeht IST A AT 3R JRe™ &1 st o
SR &M S

e & A @1 faivar 98 & & vt & oien A o & Srae[g a8 it 9 ufosny a= o fayry 7Y
&l dfews QAT H fayry 3 § 3afig a8 firgan & ware- <ot #13 W ard IR ST Y AT A §
P & STaTe H TEdT & 91y IR a7 8- «al g W | 9 IR I9a 1>

mmﬁwﬁ%q\%wwwwmz



URA- U d i &1 Sfaa e g1 gadr 82
1. GUTT &1 Y

2. qREMN P gl

AR AR

4, TR 1 U=y

Correct Answer :-

- RGN DI gl

Topic:- Social Science (S5C)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This
was quoted by: / "T% URaSHT uf U ¥ v Iexayut afafafd gidt 8, st v arire araravor &
M gt §1" T 57 RT Sgyd far T U

1. William Kilpatrick / faferad faufes

2. John Dewey / i< Sid

3. John V. Michael / SIi9 dt. HIgehd

4. Stevenson / &Id=g

Correct Answer :-

. William Kilpatrick / faferan foaafes

2) Constructivism as new philosophical approach for curriculum designing focuses on: / UTGdshH

fewmsfoim & g T anife TR & FUH WaEE W 9F Hied wRar g1
1. Intrinsic motivation of the subject/ fawa & affdfe SfmRom

2. Delayed punitive mechanism / facifeid <STe® Yot

3. Extrinsic motivation of the learner / RT&mif &1 aTaT SifATROM

4. Immediate reinforcements / dehTc] geaﬁw

Correct Answer :-

. Intrinsic motivation of the subject/ [T BT 3idRDH YR

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing
students an authentic, real-world context for learning? / Cac k)| Gﬂ\’EFTH, 3fa:fawg % 3R Hﬁﬂ,
BE-FE R R R e Hfka wwar 3, iR ol &1 Wem & R ve ymnlres, arafas g &1
TeHf wer farar wrar @2

1. Experimental / PITRICa



2. Curriculum Based / UTGUsHH SHTYTRA
3. Project Based / GRASHT TR 3emRa

4. Rote Learning / X¢d 3{TETH

Correct Answer :-

« Project Based / GRS TR SR

4) Which among the following is an example for institutional credit? / fFafafaa @ d okl
RN 91 & I T Ia16v01 32

1. Moneylenders / HIgh R

2. Primary Agricultural Credit Societies / PIgiECy ?&f g giffaai
3. Traders / ATURY
4. Landlords / STHIGR

Correct Answer :-

» Primary Agricultural Credit Societies / PIgiEcy ?‘ﬁ g giffaai

5) Which is not a quality of an evaluation tool? / 5 ¥ & FIT U& GRI®HT SUBRUT BT TP UIGwT
Te1 22

1. Validity / &aT

2. Practicability / STAgIRG T
3. Objectivity / fogefd

4. Subjectivity / TfdTUREG T

Correct Answer :-

« Subjectivity / HfFIORBAT



Match the following :

1. Poona Pact A 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3. Simon Commission €.1932
4. Gandhi Irwin Pact D 1527

[ FATATET &1 = &4

1. gaT FESHAT A. 1925
2. TE TR @S w9 | B. 1931
3. FEHT FHRA C.1932
4, aTef-seiET wevsitar | D, 1927

1. 1-A,2-B,3-C4-D
2. 1-C,2-A,3-D,4-B
3. 1-C,2-A,3-B,4-D
4. 1-D,2-C,3-B,4-A
Correct Answer :-
+ 1-C,2-A3-D,4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of

the following? / 3% &1 TgMI H Uael SHewafeR ok dfaw gaota 93 A & I w1 Hgand 82
1. Lava/drdl
2. Locolith / Ay

3. Plutonic rock / @\aﬁE EFLE
4. Dyke and Sill / $13% 3R

Correct Answer :-

« Dyke and Sill / ST3% 3R Rra

8) The method which provides a certain degree of reality and concreteness to a learning

situa%ion is known as: / g faftr =it siftnmy fRAfa &) arafdwar ik REEr yer w3l 8, 39 = st
SIGLEH

1. Lecture-Discussion / SORAM-Tdf

2. Field trips / & qded

3. Dramatization / ATC®T ¥R



4. Demonstration / W{Qﬁ

Correct Answer :-

« Field trips / & e

9) Who among the following started the Home Rule Movement in India? / HIRd A wda

g fAafafEa o 3 fad grRT IR= frar mar ur
1. Annie Besant / THI sdic
2. B.R.Ambedkar / &, 3[R, 3fAgHT

3. Jawaharlal Nehru / STATgR ATd A8

4. Subhas Chandra Bose /ﬁﬁ-ﬂgﬂa@ﬁg

Correct Answer :-

« Annie Besant / Tt s¥c

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / Can|

TR Wi Wt & ot BT B T URaT @ ATeqe T 47
1. Meerabai/lﬂﬂa'l_st

2. Chaitanya / ELE)

3. Tukaram / JPIRH
4. Andal / 3fqd

Correct Answer :-

o Meerabai / "v:ﬂTIEI'I"{E

11) Who was the first surveyor of archaeological Survey of India during British rule? /

fafe=r e & R YR RTac Tdervr &1 ugar Tdeurdd Si AUT?
1. Alexander Cunningham / 3colex HiHaH

2. James prince / o Ui

3. James Fergusson / SR tb_‘%:[

4. Dayanand Sahni / GOT-g TTgA!

Correct Answer :-

 Alexander Cunningham / 3 GCEEREARbE



12) Who founded the Swaraj Party in 1923? / 1923 H Fa=Tol TS| Bl RITYAT fb o 12
1. Motilal Nehru and C. R. Das / HId! @Td alsF 3R 3. 3R, ol

2. Gandhiji and Jawahar Lal Nehru / TiEfST 3R SIaTeR 1d A8
3. Subhash Chandra Bose / gHTY T CIES|
4. Sarojini Naidu / RIS aag

Correct Answer :-

« Motilal Nehru and C. R. Das / Bldl @ 31%%? SR . 3R, o

13) Who is the exponent of Jurisprudential Inquiry Model? / faftr=imea Jaft g aisa &

yfauTe® $1H 7

1. Bill Gordon / fd@ &4

2. Richer Suchman / R=R Jaa+
3. James Shaver / SR QIR

4. Hilda Taba / R8T dTel

Correct Answer :-

« James Shaver / =T QaR

14) Who was first elected to the British House of Commons? / fsife=r I3y 3P ST P

fore wed ugd 5 g I e

1. Jawahar Lal Nehru / STdTgR dTd A8

2. Mahatma Gandhi / HeTdHT Tieft
3. M. G. Ranade/@.\?ﬁ. TS
4, Dadabhai Naroji / EIGI?-I'I_'QC RISt

Correct Answer :-

 Dadabhai Naroji / aa‘l-ﬂ_ic Reit

15) Capital of Ancient kingdom of Avanti was: / 3(d<l & U TSy ®t ettt A
1. Vallabhi / JeciHt

2. Pataliputra / trrd%nga
3. Vidisa / fafq=m



4. Ujjain / S0l
Correct Answer :-
. Ujjain / IS0

16) For what action in Freedom Movement is Usha Mehta known? / Sdaadl GI'IE.']FF-I A fryg

ST & I 3T Agdr S ST 82
1. Participating in Round Table Conference / TieTasl T T YT o & folg

2. Running a secret Radio during Quit India Movement / HRd BIS! 3ficiad & GRIM U T St
EGIE]

3. Captain in Azad Hind Fauz / 3fToe &g ®Iel & @ 94 & fag
4. Captain in Indian National Army / HRdId AP 1 H &I

Correct Answer :-

» Running a secret Radio during Quit India Movement / HRd @ﬁ@f 3fiaIe & SR b Tﬂl{%ﬁf

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? /

IABHSTR &1 URIE At I 9ig dial A frg 991 & faare asiE asi?

1. Mughal / HITcdd
2. Adilshahis of Bijapur / §TSITQR & 3ff¢er=Ta!

3. Afghan / {4

4. Nizamshahi of Hyderabad / %G?I@IG & 9 BRI

Correct Answer :-

« Mughal / T

18) The coin Rupiya was first issued which ruler? / U4l o 999 tl?ﬁ fPa s A
SR} far ut2

1. Humayun / ETITQL

2. Babur / &R}

3. Sher Shah / ¥R 8
4. Akbar / 3P dX

Correct Answer :-

« Sher Shah /IR X8



19) The cardinal objective of setting up a Social Science laboratory in the school is to: /

faremaa & Irfere fagm wahTRmar wTfid @31 &1 U ST 8:

1. Preserve and transmit the art and artifacts to the future generations / ®dll 3R Rreqpfaal o
IRFE BT 3R Hiaw &t difedt o ugarn

2. Create an artificial environment for recreational activities of students / BTHI B! ATRSIH

foharep Tyl o foTQ Teh A aTelTaRr SHIT

3. Extend additional space for group activities and project works / JHg fopaTem T SR afeaerT
EARIEANIUIRIRER RIS |

4. Translate the theoretical postulates in to concrete experiences / ﬁailé% 3 ?JRUIIG‘ﬁ G2l m
Yl T 3drg AT
Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / @@W SfHYROM3M BT aﬂ
3Yal § 3drg Al

20) Two or more people learn or attempting to learn something together is known as: /qar

Sf® @R T 1Y 5 JGd § a1 W &1 79 $3d 8, 39 A Ser e 3:
1. Learning by observation / 3{dciic1 gRT {eRTH

2. Learning by doing / fopamgeieh 3ifemma

3. Collaborative learning / STHfg® iR

4. Team Teaching / Gaitd fRI&f0T

Correct Answer :-

« Collaborative learning / Qg SHfETH

21) Which one of the following is not included as a function of Summative Evaluation? /

fFrafafea ¥ @ & 9mare qeied & Te o1 & w0 8 e a8t 82
1. Promoting / MedTg

2. Selecting / IT-

3. Diagnosing / g™

4. Crediting / 9 T

Correct Answer :-

« Diagnosing / g



22) Which of the following is not a basic principle of Project method? / fFaferfaa & 9w
gfaerT faft &1 v ga Rigia T8 82

1. Validity / Q%

2. Activity / TTffafey
3. Utility / STAIRTT
4. Purpose / Gé{‘\’q

Correct Answer :-

. Validity / 3T

23) Which of the following is the process of pinpointing the learning difficulty of a learner of
a learned material and to suggest remedial measures? / Frafafaa 3« @ §§ ad ST
Rrgmdf o W Ft S H1FE var T 3R ITARTHS U BT a1 B ufehar 22

1. Projective technique / PREIGERIG

2. Norm-referenced testing / AT TafHd URI&01
3. Diagnostic testing / AT gtero

4. Criterion-referenced testing / A8 Taid fafd

Correct Answer :-

« Diagnostic testing / a1 Tiermr

24) Which of following steps is not involved in Inquiry Method? / J&-a1® fafir S AT
IROT M 781 82

1. Encounter with the problem / THIT T JTHAT HRAT
2. Formulating an explanation / Tch BT TIR HAT

3. Data collection and verification / =T U8 3R T
4. Classification and consensus / GBI 3R IITH

Correct Answer :-

« Classification and consensus / d{bR0T 3R AT

25) Which among the following is not a technique for ensuring reliability of a tool? /

Frafafaa & ¥« faga-aar 1 gfia w33 ) aeie T8 82
1. Odd-even method / I fawH fafd

2. Split-half method / favadTd fafd ((Ruce-gfw 7us)



3. Test-retest method / TRI&TOT G1:-UR1&70T fafey
4. Criterion-referenced method / AMGS Fl'ai'l-&f fafer @Wﬁ-w frus)

Correct Answer :-

« Criterion-referenced method / AMGS a‘aiﬁa fafer m-w 1?[243)

26) Assessing social relationship among members in a social group is termed as:

/ T TR TYE W Wewl & St qrATore et & mead &1 e wg1 e &:
1. Projective technique / gadt abe

2. Case study/ﬁlﬁ-ﬁ

3. Sociometry / JHTSIIHTC

4. Observation / e

Correct Answer :-

« Sociometry / GHTSIHf

27) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 A HRdG A

HHd I IdIG (Sis Il F IR BT R fora= wferzra ¥
1. 43%
2.31%
3.29%

4. 18%

Correct Answer :-

e 29%
28) Gandhian Plan was advocated by mdedtaeE,. @
Tadq & g1 fbar T o1

1. M. N. Roy / HFAGATY I
2. Jayaprakash Narayan / SIOYDBTRI ARTIUT

3. Narayan Agarwal / TRTIUN HYATT

4. Jawaharlal Nehru / STATgR AT g3

Correct Answer :-

o Narayan Agarwal / TRTIUT AT



29) National Forest Commission was established in the year . /?T@TI T SITART BT RITYAT
CL Hgs A

1. 2003
2. 2005
3. 2002

4. 2004

Correct Answer :-
e 2003

30) In which city was the first Automated Teller Machine (ATM) installed? / UY4H

3TaIATs TR A= (F@arferd ure /e (udieH) fory 2w d wifud &t 18 <t
1. Chennai/aﬂg
2. Delhi / et

3. Calcutta / Heradl
4. Mumbai / §8%

Correct Answer :-

« Mumbai / G835

31) Which of the following factor is not the geography factors influencing population distribution? /

fFrafafEa & A $19-91 FR® SaE faavor & guifad w34 arar Yind R 81 82

1. Soil / HaTl
2. Water / U=t

3. Climate / STy
4, Industrialization / ﬁ@m

Correct Answer :-

o Industrialization /@f@h"ﬁaﬁm

32) FAO stands for . /maﬁmq;lﬁw_ gl

1. Food Aid Organisation / ]S us Q‘/InIOhQ"dQ 3T '_‘||$@|Q|'_‘|
2. Food and Agricultural Organisation / S s Q‘/lnldJQ"CR &ﬂﬁ:l'@m

3. Federation for Agricultural Output / BeX=H BR bR 3{13cYc

4. Federation for Agricultural Off take / ST BIX w;ﬁw 36 TH



Correct Answer :-

» Food and Agricultural Organisation / S TS TWidhedR HT‘T:I@W

33) politics is based on the idea that religion is the principal basis of social community. /

oo s feR W enutfya @ i o arfie aHe o1 uHE SuR 21
1. Regional / &1

2. Communal / TTYGITIE

3. Local / ®IHIY

4. Social / FTHTISD

Correct Answer :-

« Communal / ITUSIRI®

34) Who said that, ‘As far as the nature of legislature is concerned it is such that there are
restrictions only so far as procedure is concerned. But in substance there are no restrictions, no
limitations on the sovereignty of the legislature or parliament.’ / e bol ﬁ?, U HIGED faenRer
Pt Upid &1 IGY 8, 9 ufaay Haa ufeear & e # 8, afe arafdwar & faurRieT a1 Jwe ot
TYYAT TR B3 ufaae 781 8, HIs S T8 g1

1. Acharya Kripalani / 3 m

2. Purnima Banerjee / Qﬁﬁ:ﬂ e

3. N.V.Gadgil / TA.d1. e
4. Durgabai Deshmukh / g? CIE EQIE@

Correct Answer :-

« N.V.Gadgil / T1.91.TSRId

35) Who can confer civil and military awards on individuals for their services and achievements? /

Jarait 3R Iuaferal & fore aafemal & ArRe 3 8 RIBR 9 UGH T ol 82
1. President / ?TgCIﬁ[

2. Prime Minister / TYTHAT
3. Cabinet Minister / W_Cf EE|
4. Chief Justice / T =TT

Correct Answer :-

e President / Tl'gqﬁ



36) Who was the first social scientist to make a systematic study of bureaucracy and described it as

rational and the most efficient form of organisation? / T'ﬁWI'Iﬁ T AT HFIT B I 3R
39 THIAG 3R WS FT JTH P &Y T4 a1 Ugd AHINS Aq1D i &2

1. Karl Marx / Tl HTRT
2. F. W. Taylor / Uth. S8, TeR

3. F. W. Riggs / . S, /g
4, Max Weber / g IR

Correct Answer :-

e Max Weber / fla%réa?

37) Who was the first Chairman of Planning Commission of independent India? /ﬁ?‘iﬁ HURA P

TS 3TANT & Ugd eged i A2
1. Morarji Desai / ARSI éﬂTs‘
2. Lal Bahadur Shastri / ¢lc] dglgX A

3. Pandit Jawaharlal Nehm/tﬁéﬁ NEIRRNIN :IEN‘\

4. Dr. Rajendra Prasad / E'T QI@IE Udiq

Correct Answer :-

« Pandit Jawaharlal Nehru / Uf&d STaTgRele g%

38) Who is the founder of Bhartiya Jana Sangh? / YR S 9T & GRITYS S %:?
1. Gopal Krishna Gokhale / TTTUTel 80T TTRgt

2. Shivaram Rajguru AEICRERIE [®

3. Shyam Prasad Mukherjee / RUTH UHIq H’@Gﬁ

4. Sukhdev Thapar / §@cd YTIR

Correct Answer :-
« Shyam Prasad Mukherjee / T0TH TG @i

39) Who will officiate as President till the new President is elected in case the office falls vacant and

the Vice-President is not available? / Wm%ﬁﬁaﬁ 3R mgtrﬁr%m?é’rﬁﬁ
ot feufar & 7 wrgufa & fyaffra g7 o wgufa & o A o7 ol sem

1. President Secretary / ﬂgtrﬁf gfd
2. Prime Minister / eTTHAT
3. Executive Secretary / Eb—m gira



4. Chief Justice / ¥ RIBRIN

Correct Answer :-

« Chief Justice / T&H <AL

40) The monetary assistance provided by the government for encouraging the production in an

economy /Hmnﬁmﬁmﬁawﬁ$mwmﬂﬂiﬁﬁ$
el 2l

1. Tariffs / UR[e (CRW)
2. Subsidy / ST (Gfstel)
3. Quotas / PIeT

4. Embargo / UUR PINCL]

Correct Answer :-

« Subsidy / JSRIEIAT (Tfedal)

41) When was the National Rural Livelihood Mission launched? / QT@'Q o SeiifaeT i o9
= fobar T 42

1. 2001
2. 2010
3. 2002

4. 2011

Correct Answer :-
e« 2011

42) “Explain the concept of Forests” — this question helps us to know the achievement of which of the

following objectives? / "l BT TR B RS P 1" —Wuaaﬁﬁqﬁr@aﬁﬁma‘&m
B SUAf S & Wag B 82

1. Skill / BRI
2. Creating / oI h[

3. Analysis / fa=eoo

4. Understanding / 9H

Correct Answer :-

e Understanding / JHS



43) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /

Frafafea o 3 59 Iae & IaHTa S Tl BT XG0l G HET ol 82
1. Skandagupta /W

2. Chandragupta Il / I I

3. Chandragupta | / =% |

4. Kumaragupta / P HRIW

Correct Answer :-

« Chandragupta Il / It I

44) Who was the founder of the Holkar Dynasty? / BITIc ISR & JRITYS B U?
1. Bana Misra /KITUTﬁ{%ﬂ

2. Malhar Rao / HegR X4

3. Baji Rao / STSit ¥1@

4. Madhav Peshwa / HT8d@ U@l

Correct Answer :-
e Malhar Rao / HegR 4

45) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India
and Pakistan is located near which among the following? / 110 fraties ddl arwfas a6s wifoRE
AT (TSdiTd), S URd SR Uifbwa & ot wifed geg ve1 7, Fafefaa # 3 feas free fRua @2

1. Shakshgam / RMEITH

2. Siachen Glacier / Rraife R
3. Sir Creek /IR CACH

4. Srinagar / SR

Correct Answer :-

« Siachen Glacier / Rt RRR

46) Which of the following organisations brings out independent reports on the violation of human rights

all overtheworld?/mﬁﬁﬁ-wwqxﬂmﬁmwa?mwm
fraid amar 82

1. UNESCO / gA%h!
2. Amnesty International / TF¥C] SEIARMA
3. International Humanitarian Law / m@q B DI



4. UNDP / QUASIU!
Correct Answer :-

« Amnesty International / TFIC] SEARA

47) Which of the following is not a type of Urban Local Government? / fafafead s CaE kil Udh

TPR 3T 8 WG WHR T 82

1. Zilla Parishad / FoTel oRw&

2. Notified Area Committee / Wmﬁ%ﬁ PERSIEI]
3. Cantonment Board / BIa-T EﬁTSF

4, Town Area Committee / h<d[ 833[ giHfa

Correct Answer :-

« Zilla Parishad / ISTa1 gfkeg

48) External criticism is applied in: / ST&I 3TARAT H @R FI S B
1. Experimental research / PIRINED ST

2. Quasi experimental research / 3{ & T ST

3. Historical research / ﬂﬁlﬁm 3@ CIGH

4. Phenomenological research / UG SJHYU
Correct Answer :-

« Historical research / UfdgTRI® Srde™

49) What is not true about Hasan Gangu Bahmani? / 899 77 g0+l & IR # FT I gl

a2

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole
of Deccan up to the river Krishna with its capital at Gulbarga. / 3-®T T 3Rd TR |
SIS D1 WIS! dh Tat o, SR el § Su-t ISTeTi o A1y FHT e} db A
-1 iTHferd Tl

2. He was a Turkish officer of Devagiri. / d GaRI & U gab! SUDBRI U

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. / 89 T Sg@+1, S80I
AT & IS Y|

4, He founded the empire in 1437./ 381 1437 H UG & RITYAT D1 |

Correct Answer :-



« He founded the empire in 1437. / 3781 1437 H ALY &1 RITGHT i |

50) Which among the following organization is the best example of an agreement between

Oligopolists? / Frafafad # | F19-971 W16 sreufiiierR (Gﬁﬁ‘ﬂﬁm o Th
HHEIA BT HIH DT IGTEIT 62

1. GATT / SiedIe

2. OPEC / 3{IUig &
3. WTO / Ssgeian
4. WEF / S%g5Uh

Correct Answer :-

. OPEC / 3NUisd

51) Which one of the following ocean currents does not occur in the Atlantic Ocean? /

frafafE 3 9 o1-3 7R URT seqifes AT arR | 781 il 82
1. Peru current / U YRT

2. Canary current / BRI 4RI

3. Gulf stream / TTeth & IH

4. Brazil current / SISl YRT

Correct Answer :-

« Peru current / U= YRT

52) In which State of India is the Ranthambore Tiger Reserve located? / TUTYHR CIgR

frord wRa & fra a9 Ra 32
1. Uttar Pradesh / SR UG

2. Madhya Pradesh / H¥ TRl

3. Himachal Pradesh / [gHMd Ua=1

4. Rajasthan / TSI

Correct Answer :-

« Rajasthan / TSR

53) CANCELLED



Which is associated with Sufi Saints? / B9 T Hﬂ"ﬁ i | Heftd 32
1. Sangha / Y

2. Mandapa / Heul

3. Synagogue / BIREIIS

4. Kanjah / Gl

Correct Answer :-

« Kanjah / g

54) When is 'National Education Day' celebrated in educational institutions at all levels across the

country? / G WX # At W1 W Aferes G gty e figw w9 w=mar s 82
1. 151 September / 15 IRELSR

2. 12" October/ 12 3SR

3. 14™ November / 14 4R

4. 11"" November / 11 FdeR

Correct Answer :-
« 11" November / 11 AdeR

55) Which among the following is a wildlife trade monitoring network? / FafafRad s
TS g6l AR FIRE Aead 32

1. TRAFFIC / ¢ftheh
2. UN-HABITAT / gu+-gdlee

3. PETA / UeT
4. DISS / &g

Correct Answer :-

« TRAFFIC / ¢fthe

56) Which year British transferred the capital of India from Calcutta to Delhi? / fpa ad A fafewr 3

YR B IS papr A fect wHiaia a1 A 2
1. 1912
2. 1930

3. 1911



4. 1900

Correct Answer :-

e 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the

following? / U feaa® (FHUTH) ® gafhd s &1 Ja® a1 dR Fafafed 4 | f5a
HUGKZCINE

1. Geomagnetic North Pole / w IR gd
2. Geographic North Pole / Ui 3t gd
3. Magnetic North Pole / WH I gd

4. Magnetic South Pole / DT GI&UN §d

Correct Answer :-

« Magnetic North Pole / ﬂaﬁq I gd

58) Which type of weathering is caused by Ice Crystal growth? / few wai ot W@ (CIER]
fopeed MY) & TP & SR T TSR BT s g1 8?

1. Cavernous Weathering / P 30T
2. Biological Weathering / Sfdd 3
3. Chemical Weathering / I 3U&™T

4. Physical Weathering / ifd® suem

Correct Answer :-
« Physical Weathering / Hifdd 3/er

59) Bessemer process has been used in which of the following industries? / SAWR ufepar &1

Sua fafafad & 3 e e o far mn @2
1. Fertilizers / W

2. Aluminum / TegHi=aY

3. Steel / I
4., Coal /W

Correct Answer :-

o Steel / YId



60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the

following national park/bird sanctuaries? / '\rnsﬁﬁmr W, U quiurg PGIEs| W&‘ﬂ fafafead a
fra wgia Sem/ueht srvarva o1 fFrafia smiges 872

1. Vedanthangal bird sanctuary / daTiTe Uelt SIHaRuY

2. Keoladeo national park / Hadicd QT@T{ 3l
3. Ranganathittu bird sanctuary / 3 :lllﬂag Teit SrUgRug

4. Sultanpur bird sanctuary / Wq&‘ﬁ STHIRUY

Correct Answer :-

« Keoladeo national park / Hadled IIPTT I



